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The question paper is in the form of test booklet. All candidates will be assessed on

identical questions.
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If a bus moves with a velocity of 10 m/sec initially and its velocity is increased to 20 m/sec in 100
seconds, the acceleration of the bus is

(a) 0.1 F A%/ 0.1 m/sec?
() 0.2 FA/E? /0.2 m/sec?
(¢) 10#F/FE?/ 10 m/sec’
@ 1 #JE/ 1 m/sec’

15“cq¢%¢wﬁ1¢ra:rﬁwmf>%na’rmaﬁwmma;rmwa’rmuﬁ
3O+ IRIAT Y BUT AT AW /

A given amount of gas at 15 C has pressure P. The temperature at which the pressure of the gas will
become 3P, keeping its volume constant, is

(@) 45C
(b) 60°C
(¢) 100C
(d) 591°C

38 31 g forad fQanfaa geh? /
The number 3'* - 3'° is divisible by

(a) 2and3

(b) 3and 10

(¢) 2,3 and 10

(d 2,3 and 13

100ﬁmﬁﬁﬁ@5omﬁmgﬂm?ﬁmﬁ3omﬁﬁmiaﬁlz
ﬁmﬁmmmﬁmaﬁﬁmﬁg@maﬁmﬁwaﬁmﬁmﬁm

&1 gEar feaar gl

Out of 100 students, 50 fail in English and 30 fail in Mathematics. If 12 students fail in both English
and Mathematics, the number of students passing both these subjects is

@) 32
(b) 20
(c) 50
(d) 8
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T 3T ABC & AB=5cm, AC=8cm @I BC=9cm &, a
The triangie ABC has AB =5 c¢m, AC= 8cm and BC= 9cm, then

() 1 ABC w5 fR=ivhy F33ST 11T / The triangle ABC is obtuse angled

(b) R ABC T v 87T ET &1 / The triangle ABC is not obtuse angled
(c) ﬁﬁi\—rl'ABC Ud FHSIT ﬁﬁix_ﬁ B9 / The triangle ABC is right angled

(d) FWFIHA g FAET / None of the above

UF SLHET &7 R 21 QA Fear aret aquter 9a &1 &1 36 aREg feaer gem?

A land piece is of shape of a quarter circle and of radius 21 cm. What is its perimeter?

(a) 75c¢m
(b) 72¢m
(¢) 33cm
(d) 86.625cm

IIHST &6 & SRR FGoT aST 319 W, Uh ga B R 2URy @i

At its saturated vapour pressure equal to atmospheric pressure, a liquid

(a) 3ecleT S99 / Boils

(b) HEAIT 8lel S9N/ Condenses

(c) FR??ILW g9 / Liquifies

(d) HArarH Rufea g/ Separates into moles

30 oRA. T 10.5 ToRarT. Geai@et 3 & STOWT-3elT STt & afeT HY, U @ @7 g
mmw,mﬁmmﬁlmamﬁmmmsﬁaﬁm
AT g

Two metal balls of same size, one made of iron and the other made of aluminium with their masses
30 kg and 10.5 kg are dropped from a cliff. When they are 10 m above the ground they have same:

(a) <TIIOT/ Acceleration ,
(b) HAIT/ Momentum

(¢) T&IfAST 5311/ Potential energy

(d) TS F3T / Kinetic energy
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10.

11.

12.

-

sin 90"+ sin 30" &7 AT ThaaAT BN

Value of sin 90" + sin 30 is

(a) Sin 120

(b) Sin 60’

(¢) 2sin60 cos 30
(d 2cos 60 sin30°

A log 27 =1.431 &, @ log 3 & #AT Bhaelr gm?
Given log 27 = 1.431, find the value of log 37

(a) 0.238
(b) 1.431
) 0715
d) 0.477

00, 0), Aa, 0) FT B (0,b) gt & AFT BT & althg & s aamm
The coordinates of the circumcenter of the triangle formed by the points O(0, 0), A(a, 0) and
B (0, b)is

@ (3.9
® (.3
(© (0,
@ (=, 0

40 @m—s— 330 wRagse & gt
Convert 40 C into F

(2) —20° BB /20"

(b) 72 ®BReAEEE /-72"F

(¢) -12" BREEE/-12°F

(d) —40 BRIFTEE /40" T

P+1*+ 1P +15+17+5° =
(a)y 12
(b) 6
(c) 25
@ 10

5 Post Code No. 17



%34 [

HCART GaT 37T 7 A/ SATISH DHAWAN SPACE CENTRE sHAR | SET

e dFEAIRAgA -t : 3w WH/ TECHNICIAN-B: R & A/C A

14.

15.

16.

17.

18.

V0.016 & TR §

V0.016 is

(a)
(b)
(©)

(d)

0.04
0.4
0.004
0.0004

U JH qE] T AT A dgadar A1 IRkafda &= & o0 3 6 Breh anr @
ST gl a8 ®

The quantity of heat required to convert/change of state of 1 gram of substance is

(2)
(b)
(c)
(d)

T4 3THT / Latent heat
fafRrse 3var/ Specific heat
HAETT 3°AT/ Sensible heat
I ISAT / Thermal heat

e gReh HFel qganaie

Select the sulphuric acid

(a)
(b)
©
(d)

H.80;
H,S
HNO;
H,S0O, -

a7 ETEEIN & gouAE # gfawd fEaer gt §7

Percentage mass of hydrogen in water is

(a)
(b)
(©
(d)

33.3
12.5
11.19
25

fFefafEa & @ =9 ar e s gfaftear 32

Which one is a Chemical Reduction Reaction?

(a)
(b)
(©
(d)

Tk UeTy & 3fieresia AfPATIT T/ Addition of oxygen to a substance
Teh Yard # g1 §eIT / Removal of hydrogen to a substance

T garey 7 BISZITeT ATFATIT 3T / Addition of hydrogen to a substance
g gfafshar/ Decomposition Reaction
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19.

20.

21.

22.

UfE sec +tan® =p, & a sec-tan 6= T AT FAT GO ?
If sec O +tan 8 = p, then the value of sec O —tan 6 =

(@ p

(b) 12/p
(c) p ,
d 1/p

@ma@ﬁmmﬂwmﬁaﬂ?ﬁwqﬁﬂﬂmaﬁi so7 Teryt & o
Certain substances loose their electrical resistance at very low temperature. These substances are
called:

(a) 3T dTeld / good conductors
(b) 37¢] TS / semi- conductors
(c) g 37T ITelh / super conductors

(d) “RIGET/ dielectrics

U o7 Uliger THfase am & & 7 & welas v (fae fhe arv fAwew @
ISAT 3chS T &THAT) v & e B

One ton of refrigeration implies that the machine has a refrigerating effect (Capacity-Heat
extraction from the system being cooled) equal to..............

(a) 50 TF.&HA. /50 K cal. / sec
() 50 fh. /. /50 K cal. / min
(¢) 50TF.3/eer/ 50K cal./ hr
(d) 50 fr.FMeT /50 K cal. / day

MNAT W 98 A & S
Mollier chart is graph

(a) W@W%WWW%W@HE
depicting the properties of refrigerant under varying conditions
(b) Tafir aTeTeIEere wishar & il arg @7 =R gAdT g /
depicting the behaviour of dry air under various air-conditioning process
() fafim wewt & orert aiaT g / '
depicting the properties of various lubricants
(d) Tl e Aot & TqorersT gRlaT E /

depicting the properties of various insulation materials

7 Post Code No. 17
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281

24.

25,

26.

R22 &1 gaafas A &7 &

Chemical name of R22 is

(a) WA SEFARITAAT CHCLF, / Monochloro difluoromethane CHCIF 2
(b) IEFAN 'srl'é'CI—T»ﬂﬁ fAYe CCLF / Dichloro diflouro methane CCLTF

(c) BEFAN AAFART FIAST CHCLF / Dichloro monoflouro methane CHCLF
(d) 3uUehd A A FHETE/ None of the above

ueiides H 78T 7 3uTfeufa ras & &1 yafdg T &

Presence of moisture in a refrigerant affects the working of

(a) FHST/ Compressor

(b) TIfAT/ Condenser

(c) YEXUT dTed / Expansion valve
(d) G/ Evaporator

mnﬁeﬁmmwmwm%?

The difference between wet and dry bulb temperatures

(a) dTATGROINT dTYHTA &l 96T & / Increases at atmospheric temperature

(b) AT H THT §g=1 W 9T & / Increases as air gets wetter

(c) gard qShdT & 9T 9T & / Increases as air gets dryer

(d) G aRTUfaar 7 A I8ar & / Remains the same under all conditions

Fifde &9 98 &g § =r

The critical pressure is the pressure

(a) TITH 39T ga &1 Fewle glar /7 Above which explosion of liquid occurs

(b) Torae W ga 3T 3GTAT 7 IET & / Above which a liquid will remain liquid

(c) TS 30X ga aT™I & 9T FTAT &/ Above which a liquid turns into vapour
(d) Toraes A ga 347 37aEAT H IEAT & / Below which a liquid remains only in the liquid state

8 Post Code No. 17
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27

28.

29.

30.

. Hehdlls AT FAT 2

Mcleod gauge is a

(a) &I ST/ Pressure gauge

(b) @UT3% 3/ Compound gauge

(¢) & a A/ Vacuum gauge

(d) 39FTH H HIS FE/ None of the above

et & @ wehas & ve anfEa aor gl ¥

One of the desirable properties of the refrigerant is that it should have

(a) TS ShIfeh ATIAT / Low critical temperature
(b) %= fafrse 35AT/ Low specific heat

(c) To%T g&eT ATeThaT / Low thermal conductivity
(d) T&T ﬁ?{gﬁ? AT / Low electrical insulation

e ok & aha, wefids qanr 3sAT foRmpd w6l 1 S §7

During a refrigeration cycle, heat is rejected by the refrigerant in a

(@) TS/ Compressor

(b) Hlﬁq?l'/ Evaporator

(c) HEfT/ Condenser

() BEarurafea/ Expansion valve

fecere vt & aredl 3usor # Fr grar 7

The outdoor unit of split AC consists of

(a) T, arfews, gar/ Compressor, evaporator, fan

(b) @i, gufas, gar/ Evaporator, Condenser, Fan

(c) ﬁﬂﬁ?, e, g@r/ Condenser, Compressor, fan

(d) FNfST, FIfy, Gufaw, 9&@r/ Compressor, evaporator, condenser, fan

9 Post Code No. 17
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31.

32.

88.

34.

WWW@HW:&WW%W@WWW—WW#
STl 72

The sub cooling is a process of cooling the refrigerant in vapour compression refrigeration system

(a) YT+ El\"c‘f/ Before compression
(b) HUE & 91 / After Compression
(c) 3UTAH ‘?Ij' / Before throttling
(d) JORIEA & &S / After throttling

aifsyT & 3M3ece W yefiaw fg saer & gar &7

The state of the refrigerant at the outlet of evaporator is

(a) FAETEd/ Low pressure liquid
(b) TI¥T S arsq / Low pressure vapour
(¢) 3= ad ga/ igh pressure liquid
(d) 3=9cId dr™q / High pressure vapour

SIIC FoR (TR FeR) B a7 arareror F i sieraer a1y §2

Desert coolers (Air coolers) provide more comfort in this hot environment

(a) I=< HIYET AT/ High relative humidity

(b) qsh ERCIE / Dry climate

(c) 3T el / Humid climate

(d) B'q?‘fl;‘iﬂ' Y STITH/ATATaROT / All above climate or environment

wm@ﬁwﬁ%mmmmﬁﬁw,ﬁwﬁsﬁﬁwm
ST aaaeT

In order to cool and dehumidify a stream of moist air, it must be passed over the coil at a temp

(a) HTSATET 9RT & DBT 92T WBT & ST &/

Which lies between DBT and WBT of the incoming stream
(b) HTETel YRT & WBT a7 DPT & ST 8/

Which lies between WBT and DPT of the incoming stream
(c) 3AQTE €T & DPT & HA &Y/

Which is Jower than the DPT of the incoming stream
(d mmméﬁamméaﬁﬁwe’r/

Of adiabatic saturation of incoming stream

10 Post Code No. 17
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35.

36.

37.

38.

qiEE T 3R A 5T 3@ &1 39l B amar £2

Which 1s a desicant used in compressed air dryer

(a) T dicT / Resin balls

(b) BIf3IT FARISS / Sodium chloride
(c) TIRI / Charcoal

(d) Tafepr/ Silica

U FECI/Felereliareh ofd 3 RH & RIfRT w3 w4t smaemes §2

Need to contro! RH in a computers / electronics lab is

(a) THY T elelel Ushat & TIT / To avoid condensation of moisture

(b)y TR G A FTHA T Vbt F fAT/ To avoid accumulation of static charges
(c) 3T gayray ?%DT & T/ For more effective cooling

(d) FHEAA F AAGT FeIeheted & foIT / For human comfort of working personnel

a7 &I A & 3THIOT HT AT AT

Name of the instrument used to measure Air velocity

(@) AEHFAIT / Multimeter

(b) IHAATHICT / Anemometer
(c) UHATHIET / Thermometer
(d) 3THIET/ Ammeter

Teh e wAiiasd H &7 g anfgu?
A good refrigerant should have

(a) GTSHRYOT Y FTT Il ISAT AT Ao fgaAien /

High latent heat of evaporation and low freezing point
(b)  arsdIsHoT Y foweT Icet IvAT T o=t e /

Low latent heat of evaporation and low freezing point
(c) 3T @At T aTSTeT Y T o] ISAT/

High freezing point and high latent heat of vaporization
(@) T C.0.P e A= A/

Low C.0.P and low freezing point

11 Post Code No. 17
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39.

40.

41.

42.

T Hicier erel H fhH =qAqH dIH T 9T & 33T har o1 |@hdr §?

The minimum temperature to which water can be cooled in a cooling tower is

(2)
(b)
(©
(d)

arg & 31T dT9ATA / Dew Point Temperature of air
arq o 4T Sod dT9Te / Wet Bulb Temperature of air
g & eF T ATIHT / Dry Bulb Temperature of air
HIHT=T 9y dT4HTT / Ambient air temperature

e Tfee Ifee 7 SR 7o IEC R

Capillary tube is a device in domestic split units

(a)
(b)
(©)
(d)

sic / =Te]/ On or off

aTTeus / Evaporator

S8IVT / Expansion

3'11’21?1’? " ﬁé FET / None of the above

geiiaar Ish & ueiides &l Yag had FaEg Tohar Sar & 2

In a refrigeration cycle, the flow of refrigerant is controlled by

(2)
(b)
(©
(d)

BRe] arsq HYiseT wiifaT A AHIdar

Fd1geh gaRT / Compressor

AT @ / Condenser

gITeqa gRT / Evaporator

JHIYT dTed GdRT / Expansion valve

In a domestic vapour compression refrigerator, the refrigerant commonly used is

(a) FIEASTSHFASS / CO, ,
(b) 3ATFAT/ Ammonia

(¢) R 12/RI12

(d) E?j’TcH-TSﬁ/AH of the above

12 Post Code No. 17
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43. me%m@rwmﬁﬁmma@nmwwwaﬁ@

44.

45.

46.

At lower temperatures and pressures, the latent heat of vaporisation of a refrigerant

(a) EIET-ﬁ & / Decreases

(b) F&dT &/ Increases

(¢) WA IEdr & / Remains same

(d) == W AR HIATE / Depends on other factors

TAAHES A frafof@a & & @i @ geide 3ifterdw de=smeT 3ol eRor @t £
Which of the following refrigerant or their constituent has the maximum ozone depletion potential
in the stratosphere?

(a) 3TAT=AT /Ammonia

(b) FEASTSIHTFAZS / Carbon dioxide
(c) HETISEHIFISS / Sulphur dioxide
(d) AR/ Flourine

fFrfaf@a & & 9 ar vhaw scafte fwea aw ssaaeie aar &2

Which of the following refrigerant is highly toxic and flammable?

(a) ITAIfAAT / Ammonia
(b) FEASEIFASS / Carbon dioxide

(c) Ecvcﬁigléi’:ﬁﬂ'iég / Sulphur dioxide
(d IR 12/R12

afe wafe uliasws 1 RAg @ar § a7 gass o & saren &1 ©1 59 o F seo
ST & 2

The colour of the flame of halide torch in case of leakage of Freon refrigerant will change to

(2) o9T=AT/ Purple
(b) 3T/ Pink
(c) OITaT §3T/ Bright green
(d) =TT/ Blue

13 Post Code No. 17
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47. g4AT$ STETst & ATdlefehels] # wefia® & &F # YT gl arell arg & 57 I &7y

48.

49.

50.

g & ?

In air conditioning of aero planes, using air as a refrigerant the cycle used is

(a) A9 Srefe Teh FT / Reversed carnot cycle
®) A ST Ik T / Reversed joule cycle

| (c) TA9T AT dsh I/ Reversed Brayton cycle

(d) TAILCT 31ET Uk T/ Reversed otto cycle

PrAfatad & O Ree weliad &1 wgeas RHE gar § 2
Which of the following refrigerant has lowest freezing point

(a) 3R 11/RII1

(by IN12/RI12

(¢) IAN22/R22

(d) 3AfAAT/ Ammonia

welices & FA= feiafad 7 & Hia a1 T arg 1 JAT T § 2

Which of the following cycles uses air as the refrigerant?

(a) SR/ Ericson
(b) TR/ Stirling
(c) FIATe / Carnot
(d) ‘&1 FITAF / Bell Coleman

s gfaa dF @ FEEE 120 kw &Y @R W FEAT H RIFT T §, T9iE sHH
FFIER 30 kw TS & STHT ar g ar dF S A gl 2

A condenser of refrigeration system rejects heat at the rate of 120 kw, while its compressor
consumes a power of 30 kw. The COP of the system is

@ 3
®) =
© 3
@ 4

14 Post Code No. 17




-

il“D

HAT A 3ARET % e/ SATISH DHAWAN SPACE CENTRE sHAR . SET

dEfge - @ : 3T wd Wt/ TECHNICIAN-B: R & A/C A

= $d & fqu e/ Space for rough work
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1V3S

10.

11.

T IEIASS TR Uh TG TUU/3UaT 33T F H fear S, Sl fafaer seax fwew (a), (1), (0
T (d) AL &Y 3FH | U &7 3cak WAl & / Bach objective question is provided with a text

and/or ﬁgures wherever applicable with multiple answer cheices (a), (b), (c) and (d). Only
one of them is correct.

Mwmm Mt | RT U e W e @ il A okl W@ RERa wR| @
mmw%ﬁzwﬁaﬁ%ammﬁmmmmmmamﬁfmmme

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

mﬁa?@ﬁwwa%qaaﬁﬁa%‘rwagwmﬁgﬁﬁéwaaﬁwaww
TG 3eal W TF HF Hrer Twem [ All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

T T F ARy sca) & TeEd 3cdl AT SE|
Multiple answers for a question will be regarded as a wrong answer.

ma%%mﬁ%ﬂﬁﬁAmBmcmDmEmmm% ST
mmamﬁmmme(mﬁamﬁﬁ@mm%JWHmw
Jecl qieasT <hr St AT &1 Fwe| / Question booklets have been marked with A or B or C

or D or E on the right hand top corner, which is mandatory to be written on the OMR sheet
in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

Fraea® B W 6 HE & IRAH F v v Red T 1 39AT B AR E| 3T § s
ot TEl & stualr / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided.

ﬁqaam$fﬁwmé‘ra€%ﬂwz€s‘r 39 U HUSAT AT &7 991 o Y| 3T 3T 99T
gol &L U d1¢ A FIoeT T gel &Y dahd £1 / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

qﬂmﬂ:mmwmqﬁaﬁwmgﬁﬁaqﬁmmﬁ%rmam(z)mm
mﬁﬂﬁm’rﬁq&mﬁr@hsﬁm#aﬁsﬁsﬁma‘ﬁmlmtheendof

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

oraT REReT & T fFET wee & d@eg g o, 3ideh faaver & wuie @19/ In case of any doubt
in any question between the language versions, English version will prevail.
# dek kk
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